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PREVIEW




Algebra “Chain Letters” are composed of 5 brief math questions.
Answer each one, in sequence, to reach the last letter -2 the solution!

Here is a trial run for you to try.

Algebra Chain Letters...

T is the y-intercept of x+ 2y = 4

4T + 20 = R

The radius of the circle

X2 + (y+2)2= A isL

What 1s L?

SOLUTIONS=->



: SOLUTIONS T = R==1 == A== L
Algebra Chain Letters...

T is the y-intercept of x+ 2y = 4

T=2

4T + 20 = R

@)@2) + 20 = 28

The radius of the circle

xz + (y+2)2= A isL

x-0)? + (y-0)% =12

What is L? L=29

Here are 12 more chains, involving a variety of algebra topics...

Enjoy!
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Algebra Chain Letters...

x~-y=—8

x+3y=4

B‘t_2|i]8 } The range of t is C

N+ s =D

(m-D)m+D) = m*> — E

What is E?
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Algebra Chain Letters...

P is the maximum value of the curve

y = —2x+5° -3

mathplane.com What is E?
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h(t) = -16t°+ 200t + & Marth

"When does the AP. 0110
rocket land?" \ mooA
€l
"Do we solve for 't'?
Or, for 'h'?"

"I don't know. I thought
we always solve for 'x'.
Where are the x's?"

"Uh, Mr. Houston,
we have a problem."

Teaching this crew about quadratics Ighz'sslsigle
was a challenge for Professor Houston P

SOLUTIONS-->



_ SOLUTIONS Ac=B o Ce=e=Dce=>= E
Algebra Chain Letters...
X—y=-—28
Xty =A
X+3y=4
d (-5.3) A =-2
A
1 -
3 b B =09

mflmimum v The range of t is C
0=1t=4 rangeC=1
Nc+8=D
D =10

(m-D)m+D) = m* - E

What is E? E = 100




SOLUTIONS P==Lc=>A= N=>E

Algebra Chain Letters...

P is the maximum value of the curve

y = 2(x+5° -8

this parabola opens downward, so the
maximum value is the vertex....

_mlmu |mv

Wh +(-8) = 12

B —)
5

log(L) = A
log(100) = 2

mathplane.com




Product

"Suppose you have three Ford Mustangs.
Inside each -- on the plush, leather seats --
is a six-pack of Coca-Cola...."

Placement

"How many cans of refreshing,
ice cold Coke are there?"

eation: Word- Problems

"... and, the product of 6 and 3
is 18 cans of Coke."

Leation: Word Probleny

;.\-\-L.L-j,.m.#\_ﬂ 1

= 18 cans JUST DOIT.

&

SLOPE
A { _ rise
~ run
Volume of Sphere
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e, — T
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presented by AT&T
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< END OF PREVIEW >

A new way of funding education




Thanks for visiting! To see the other chain letter exercises,
download the product file. Proceeds go to mathplane site
maintenance and improvement (and, treats for Norway the
Husky!). We appreciate your support.

mathplane.com

Also, Mathplane Express for mobile at mathplane.org



